

## COMMON FIXED POINT THEOREM FOR THREE SELFMAPS OF A COMPLETE G-METRIC SPACE

J. Niranjana Goud<sup>1 §</sup>, V. Kiran<sup>2</sup>, M. Rangamma

<sup>1,2,3</sup>Department of Mathematics

Osmania University

Hydrabad, INDIA

---

**Abstract:** In this paper we prove a common fixed point theorem for three weakly compatible self maps of a complete G-metric space. As an illustration we provide an example to support our theorem.

**AMS Subject Classification:** 54H25, 47H10

**Key Words:** G-Metric space, fixed point, weakly compatible selfmaps, associated sequence for three selfmaps, implicit relation

---

### 1. Introduction

Sessa[7] generalized the notion of commuting maps by introducing weakly commuting maps. As a further generalization of this G. Jungck[4, 5] initiated compatibility, later Jungck and Rhoades[6] introduced the concept of weakly compatible mappings. Gähler[2, 3] introduced the notion of 2-metric spaces, Dhage[1] initiated the notion of  $D$ -metric spaces. Subsequently several researchers have proved that most of their claims made are not valid. Later Shaban Sedghi, Nabi Shobe and Haiyun Zhou[8] introduced  $D^*$  metric spaces. In 2006, Zead Mustafa

---

Received: July 24, 2017

Revised: July 25, 2018

Published: July 27, 2018

© 2018 Academic Publications, Ltd.

url: [www.acadpubl.eu](http://www.acadpubl.eu)

<sup>§</sup>Correspondence author

and Brailey Sims[10, 11] initiated  $G$ - metric spaces. Among these generalizations,  $G$ -metric spaces are noteworthy, as several researchers have established many results on these.

The purpose of this paper is to prove a common fixed point theorem for three weakly compatible self maps of a complete  $G$  -metric space.

## 2. Preliminaries

**Definition 1.** [10] Let  $X$  be a non empty set and  $G : X^3 \rightarrow [0, \infty)$  be a function satisfying

(G1)  $G(x, y, z) = 0$  if  $x = y = z$

(G2)  $0 < G(x, x, y)$  for all  $x, y \in X$  with  $x \neq y$

(G3)  $G(x, x, y) \leq G(x, y, z)$  for all  $x, y, z \in X$  with  $z \neq y$

(G4)  $G(x, y, z) = G(\sigma(x, y, z))$  for all  $x, y, z \in X$  where  $\sigma(x, y, z)$  is a permutation of the set  $\{x, y, z\}$  and

(G5)  $G(x, y, z) \leq G(x, w, w) + G(w, y, z)$  for all  $x, y, z, w \in X$

Then  $G$  is called a  $G$ -metric on  $X$  and the pair  $(X, G)$  is called a  $G$ - metric space.

**Example:** Let  $(X, d)$  be a metric space. Define  $G_s^d : X^3 \rightarrow [0, \infty)$  by

$$G_s^d(x, y, z) = \frac{1}{3}[d(x, y) + d(y, z) + d(z, x)],$$

for  $x, y, z \in X$ , then  $(X, G_s^d)$  is a  $G$ -metric space

**Lemma 2.** [10] Let  $(X, G)$  be a  $G$ -metric space then  $G(x, y, y) \leq 2G(y, x, x)$  for all  $x, y \in X$

**Definition 3.** [10] Let  $(X, G)$  be a  $G$ -metric Space. A sequence  $\{x_n\}$  in  $X$  is said to be  $G$ -convergent if there is a  $x_0 \in X$  such that to each  $\varepsilon > 0$  there is a natural number  $N$  for which  $G(x_n, x_n, x_0) < \varepsilon$  for all  $n \geq N$ .

**Definition 4.** [10] Let  $(X, G)$  be a  $G$ -metric Space. A sequence  $\{x_n\}$  in  $X$  is said to be  $G$ -Cauchy if for each  $\varepsilon > 0$  there exists is a natural number  $N$  such that  $G(x_n, x_m, x_l) < \varepsilon$  for all  $n, m, l \geq N$ .

Note that every  $G$ -convergent sequence in a  $G$ -metric space  $(X, G)$  is  $G$ -Cauchy.

**Definition 5.** [10] A  $G$ -metric space  $(X, G)$  is said to be  $G$ -complete if every  $G$ -Cauchy sequence in  $(X, G)$  is  $G$ -convergent in  $(X, G)$

**Lemma 6.** [10] Let  $(X, G)$  be a  $G$ -metric space. Then for any  $x, y, z, a \in X$  it follows that:

- (1)  $G(x, y, z) = 0$  if  $x = y = z$
- (2)  $G(x, y, z) \leq G(x, x, y) + G(x, x, z)$
- (3)  $G(x, y, y) \leq 2G(y, x, x)$
- (4)  $G(x, y, z) \leq G(x, a, z) + G(a, y, z)$
- (5)  $G(x, y, z) \leq \frac{2}{3}G(x, a, a) + G(y, a, a) + G(z, a, a)$

**Definition 7.** Let  $f$  and  $g$  be two self maps of a  $G$ -metric space  $(X, G)$  such that  $\lim_{n \rightarrow \infty} G(fgx_n, gfx_n, gfx_n) = 0$  for every sequence  $\{x_n\}$  in  $X$  with  $\lim_{n \rightarrow \infty} fx_n = \lim_{n \rightarrow \infty} gx_n = t$  for some  $t \in X$ , then the functions  $f$  and  $g$  are said to be compatible.

**Definition 8.** Let  $f, g$  be two self maps mappings of a metric space  $(X, G)$ . The pair  $(f, g)$  is said to be weakly compatible, if  $G(fgx, gfx, gfx) = 0$  whenever  $G(fx, gx, gx) = 0$ . That is the mappings  $f$  and  $g$  are said to be weakly compatible if they commute at their coincident points.

**Definition 9.** A function  $\phi : (\mathbb{R}^+)^5 \rightarrow \mathbb{R}^+$  which is continuous and increasing in each co-ordinate with  $\phi(t, t, a_1t, a_2t, t) < t$  for every  $t \in \mathbb{R}^+$  where  $a_1 + a_2 = 3$  is called an Implicit relation. The set of all implicit relations is denoted by  $\Phi$ .

**Lemma 10.** [9] Let  $\gamma : \mathbb{R}^+ \rightarrow \mathbb{R}^+$  be a mapping such that  $\gamma(t) = \phi(t, t, a_1t, a_2t, t) < t$  where  $a_1 + a_2 = 3$ . For every  $t > 0$ ,  $\gamma(t) < t$  if and only if  $\lim_{n \rightarrow \infty} \gamma^n(t) = 0$  where  $\gamma^n$  denotes the composition of  $\gamma$  with itself  $n$  times.

**Definition 11.** Let  $(X, G)$  be a  $G$ -metric space and  $f, g$  and  $p$  be self maps of a  $G$ -metric space  $(X, G)$  such that  $f(X) \subseteq g(X)$ ,  $f(X) \subseteq p(X)$ . For any  $x_0 \in X$ , we can find a sequence  $\{x_n\}$  in  $X$  such that  $fx_{2n} = gx_{2n+1}$ ,  $fx_{2n+1} = px_{2n+2}$  for  $n \geq 0$  then  $\{x_n\}$  is called an associated sequence of  $x_0$  relative to the self maps  $f, g$  and  $p$ .

### 3. Main Result

**Theorem 12.** Let  $A, S$ , and  $T$  be selfmaps of a complete  $G$ -metric space  $(X, G)$  satisfying the following conditions

- (i)  $A(X) \subseteq T(X)$  and  $A(X) \subseteq S(X)$
- (ii) one of  $S(X)$  and  $T(X)$  is closed subset of  $X$ .

$$(iii) \ G(Ax, Ay, Ay) \leq \phi \left( \begin{matrix} G(Sx, Ty, Ty), & G(Ax, Ty, Ty), \\ G(Sx, Ay, Ay), & G(Sx, Ax, Ax), \\ G(Ty, Ay, Ay) \end{matrix} \right)$$

for every  $x, y \in X$  and  $\phi \in \Phi$

(iv) The pairs  $(A, T)$  and  $(A, S)$  are weakly compatible

Then  $A, S$  and  $T$  have a unique common fixed point in  $X$

*Proof.* let  $x_0 \in X$  be an arbitrary point. Then by definition 11 there exists an associated sequence  $\{x_n\}$  in  $X$  such that

$$y_{2n} = Ax_{2n} = Tx_{2n+1}, y_{2n+1} = Ax_{2n+1} = Sx_{2n+2} \text{ for } n = 0, 1, 2 \dots$$

Let  $G_n = G(y_n, y_{n+1}, y_{n+1})$ .

first we prove  $G_{2n} \leq G_{2n+1}$ .

If  $G_{2n} > G_{2n+1}$  for some  $n \in \mathbb{N}$ ,

then from (iii) of the Theorem 12, we have

$$\begin{aligned} G_{2n} &= G(y_{2n}, y_{2n+1}, y_{2n+1}) \\ &= G(Ax_{2n}, Ax_{2n+1}, Ax_{2n+1}) \\ &\leq \phi \left( \begin{matrix} G(Sx_{2n}, Tx_{2n+1}, Tx_{2n+1}), & G(Ax_{2n}, Tx_{2n+1}, Tx_{2n+1}), \\ G(Sx_{2n}, Ax_{2n+1}, Ax_{2n+1}), & G(Sx_{2n}, Ax_{2n}, Ax_{2n}), \\ G(Tx_{2n+1}, Ax_{2n+1}, Ax_{2n+1}) \end{matrix} \right) \\ &= \phi \left( \begin{matrix} G(y_{2n-1}, y_{2n}, y_{2n}), & G(y_{2n}, y_{2n}, y_{2n}), \\ G(y_{2n-1}, y_{2n+1}, y_{2n+1}), & G(y_{2n-1}, y_{2n}, y_{2n}), \\ G(y_{2n}, y_{2n+1}, y_{2n+1}) \end{matrix} \right) \\ &\leq \phi \left( G_{2n-1}, 0, G_{2n-1} + G_{2n}, G_{2n-1}, G_{2n} \right) \\ &\leq \phi \left( G_{2n-1}, 0, 2G_{2n}, G_{2n-1}, G_{2n} \right) \\ &\leq \phi \left( G_{2n}, G_{2n}, 2G_{2n}, G_{2n}, G_{2n} \right) \\ &< G_{2n} \end{aligned}$$

which is a contradiction since  $G_{2n+1} \leq G_{2n}$

similarly we can prove that  $G_{2n+1} \leq G_{2n}$

Hence we have  $G_n \leq G_{n-1}$  for all  $n \geq 1$ . Therefore  $\{G_n\}$  is a non increasing sequence of non-negative real numbers. Now

$$G_1 = G(y_1, y_2, y_2)$$

$$\begin{aligned}
&= G(Ax_1, Ax_2, Ax_2) \\
&\leq \phi \left( \begin{array}{l} (G(Sx_1, Tx_2, Tx_2), \quad G(Ax_1, Tx_2, Tx_2), \\ G(Sx_1, Ax_2, Ax_2), \quad G(Sx_1, Ax_1, Ax_1), \\ G(Tx_2, Ax_2, Ax_2, \end{array} \right) \\
&= \phi \left( \begin{array}{l} G(y_0, y_1, y_1), \quad G(y_1, y_1, y_1), \quad G(y_0, y_2, y_2), \\ G(y_0, y_1, y_1), \quad G(y_1, y_2, y_2) \end{array} \right) \\
&\leq \phi \left( G_0, 0, G_0 + G_1, G_0, G_1 \right) \\
&\leq \phi \left( G_0, G_0, 2G_0, G_0, G_0 \right) \\
&= \gamma(G_0)
\end{aligned}$$

In general, we have  $G_n \leq \gamma^n(G_0)$ . So  $G_0 > 0$ , then by Lemma 10  $\lim_{n \rightarrow \infty} G_n = 0$ . For  $G_0 = 0$  we have  $\lim_{n \rightarrow \infty} G_n = 0$ . Therefore we get  $\lim_{n \rightarrow \infty} G_n = 0$ , for every  $n$ . we now claim that  $\{y_n\}$  is a Cauchy sequence.

It is sufficient to show that  $\{y_{2n}\}$  is a Cauchy. Suppose that  $\{y_{2n}\}$  is not a Cauchy sequence, then there is an  $\epsilon > 0$  such that for each integer  $2k$ , for  $k = 0, 1, 2 \dots$ , there exists even integers  $2n_k, 2m_k$  with  $2k < 2n_k < 2m_k$  such that  $G(y_{2n_k}, y_{2m_k}, y_{2m_k}) > \epsilon$  and

$$G(y_{2n_k}, y_{2m_k-2}, y_{2m_k-2}) \leq \epsilon$$

Now

$$\begin{aligned}
\epsilon &< G(y_{2n_k}, y_{2m_k}, y_{2m_k}) \\
&\leq G(y_{2n_k}, y_{2m_k-2}, y_{2m_k-2}) + G(y_{2m_k-2}, y_{2m_k-1}, y_{2m_k-1}) \\
&\quad + G(y_{2m_k-1}, y_{2m_k}, y_{2m_k})
\end{aligned}$$

on letting  $k \rightarrow \infty$ , we obtain  $G(y_{2n_k}, y_{2m_k}, y_{2m_k}) = \epsilon$ .

Moreover, we have

$$|G(y_{2n_k-1}, y_{2m_k}, y_{2m_k}) - G(y_{2n_k}, y_{2m_k}, y_{2m_k})| \leq 2G(y_{2n_k-1}, y_{2n_k}, y_{2n_k})$$

$$\begin{aligned}
&|G(y_{2n_k}, y_{2m_k+1}, y_{2m_k+1}) - G(y_{2n_k}, y_{2m_k}, y_{2m_k})| \\
&\leq 2G(y_{2m_k}, y_{2m_k+1}, y_{2m_k+1})
\end{aligned}$$

$$\begin{aligned}
&|G(y_{2n_k-1}, y_{2m_k+1}, y_{2m_k+1}) - G(y_{2n_k-1}, y_{2m_k}, y_{2m_k})| \\
&\leq 2G(y_{2m_k}, y_{2m_k+1}, y_{2m_k+1})
\end{aligned}$$

on letting  $k \rightarrow \infty$  we get

$$\lim_{n \rightarrow \infty} G(y_{2n_k-1}, y_{2m_k}, y_{2m_k}) = \epsilon$$

$$\lim_{n \rightarrow \infty} G(y_{2n_k}, y_{2m_k+1}, y_{2m_k+1}) = \epsilon$$

$$\lim_{n \rightarrow \infty} G(y_{2n_k-1}, y_{2m_k+1}, y_{2m_k+1}) = \epsilon$$

Now by (iii) of the Theorem 12, we have

$$\begin{aligned} &G(y_{2n_k}, y_{2m_k+1}, y_{2m_k+1}) \\ &= G(Ax_{2n_k}, Ax_{2m_k+1}, Ax_{2m_k+1}) \\ &\leq \phi \left( \begin{array}{cc} G(Sx_{2n_k}, Tx_{2m_k+1}, Tx_{2m_k+1}), & G(Ax_{2n_k}, Tx_{2m_k+1}, Tx_{2m_k+1}), \\ G(Sx_{2n_k}, Ax_{2m_k+1}, Ax_{2m_k+1}), & G(Sx_{2n_k}, Ax_{2n_k}, Ax_{2n_k}), \\ G(Tx_{2m_k+1}, Ax_{2m_k+1}, Ax_{2m_k+1}) & \end{array} \right) \\ &\leq \phi \left( \begin{array}{cc} G(y_{2n_k-1}, y_{2m_k}, y_{2m_k}), & G(y_{2n_k}, y_{2m_k}, y_{2m_k}), \\ G(y_{2n_k-1}, y_{2m_k+1}, y_{2m_k+1}), & G(y_{2n_k-1}, y_{2n_k}, y_{2n_k}), \\ G(y_{2m_k}, y_{2m_k+1}, y_{2m_k+1}) & \end{array} \right) \end{aligned}$$

on letting  $k \rightarrow \infty$ , we get  $\epsilon \leq \phi(\epsilon, \epsilon, \epsilon, 0, 0) < \epsilon$  which is a contradiction, hence the sequence  $\{y_{2n}\}$  is a Cauchy.

Since  $X$  is complete  $G$ -metric space, it converges to a point  $z$  in  $X$  such that

$$\begin{aligned} \lim_{n \rightarrow \infty} y_{2n} &= \lim_{n \rightarrow \infty} Ax_{2n} = \lim_{n \rightarrow \infty} Sx_{2n+1} = \lim_{n \rightarrow \infty} Ax_{2n+1} \\ &= \lim_{n \rightarrow \infty} Tx_{2n+2} = z. \end{aligned}$$

Suppose  $S(X)$  is closed subset of  $X$  then there exists a point  $u \in X$  such that  $Su = z$ . we now show that  $Au = z$ . If  $Au \neq z$ , then  $G(Au, z, z) > 0$ .

From (iii) of the Theorem 12

$$\begin{aligned} &G(Au, y_{2n+1}, y_{2n+1}) \\ &= G(Au, Ax_{2n+1}, Ax_{2n+1}) \\ &\leq \phi \left( \begin{array}{cc} G(Su, Tx_{2n+1}, Tx_{2n+1}), & G(Au, Tx_{2n+1}, Tx_{2n+1}), \\ G(Su, Ax_{2n+1}, Ax_{2n+1}), & G(Su, Au, Au), \\ G(Tx_{2n+1}, Ax_{2n+1}, Ax_{2n+1}) & \end{array} \right) \end{aligned}$$

on letting  $n \rightarrow \infty$  we obtain

$$\begin{aligned} G(Au, z, z) &\leq \phi \left( \begin{array}{ccc} G(z, z, z), & G(Au, z, z), & G(z, z, z), \\ G(z, Au, Au), & G(z, z, z) & \end{array} \right) \\ &= \phi \left( 0, G(Au, z, z), 0, G(z, Au, Au), 0 \right) \\ &\leq \phi \left( \begin{array}{ccc} G(Au, z, z), & G(Au, z, z), & G(Au, z, z), \\ 2G(Au, z, z), & G(Au, z, z) & \end{array} \right) \\ &< G(Au, z, z) \end{aligned}$$

which is a contradiction, hence  $Au = z$ , thus  $Au = Su = z$ .

Since the pair  $(A, S)$  is weakly compatible then  $ASu = SAu$  implies  $Az = Sz$ . We now show that  $Az = z$ . If  $Az \neq z$  then  $G(Az, z, z) > 0$ .

From (iii) of the Theorem 12, we have

$$\begin{aligned} & G(Az, y_{2n+1}, y_{2n+1}) \\ &= G(Az, Ax_{2n+1}, Ax_{2n+1}) \\ &\leq \phi \left( \begin{array}{cc} G(Sz, Tx_{2n+1}, Tx_{2n+1}), & G(Az, Tx_{2n+1}, Tx_{2n+1}), \\ G(Sz, Ax_{2n+1}, Ax_{2n+1}), & G(Sz, Az, Az), \\ G(Tx_{2n+1}, Ax_{2n+1}, Ax_{2n+1}) & \end{array} \right) \end{aligned}$$

on letting  $n \rightarrow \infty$  we obtain

$$\begin{aligned} G(Az, z, z) &\leq \phi \left( \begin{array}{ccc} G(Sz, z, z), & G(Az, z, z), & G(Sz, z, z), \\ G(Az, Az, Az), & G(z, z, z) & \end{array} \right) \\ &= \phi \left( G(Az, z, z), G(Az, z, z), G(Az, z, z), 0, 0 \right) \\ &\leq \phi \left( \begin{array}{cc} G(Az, z, z), & G(Az, z, z), & G(Az, z, z), \\ 2G(Az, z, z), & G(Az, z, z) & \end{array} \right) \\ &< G(Az, z, z) \end{aligned}$$

which is a contradiction, hence  $Az = z$ , thus  $Az = Sz = z$ .

Proving that  $z$  is common fixed point of  $A$  and  $S$ .

Since  $A(X) \subseteq T(X)$ , then there exists a point  $v \in X$  such that  $Tv = Az = z$ . We now show that  $Av = z$ . If  $Av \neq z$ , then  $G(z, Av, Av) > 0$ . From (iii) of the Theorem 12, we have

$$\begin{aligned} & G(z, Av, Av) \\ &= G(Az, Av, Av) \\ &\leq \phi \left( \begin{array}{ccc} G(Sz, Tv, Tv), & G(Az, Tv, Tv), & G(Sz, Av, Av), \\ G(Sz, Az, Az), & G(Tv, Av, Av) & \end{array} \right) \\ &= \phi \left( G(z, z, z), G(z, z, z), G(z, Av, Av), G(z, z, z), G(z, Av, Av) \right) \\ &= \phi \left( 0, 0, G(z, Av, Av), 0, G(z, Av, Av) \right) \\ &\leq \phi \left( \begin{array}{ccc} G(z, Av, Av), & G(z, Av, Av), & G(z, Av, Av), \\ 2G(z, Av, Av), & G(z, Av, Av) & \end{array} \right) \\ &< G(z, Av, Av) \end{aligned}$$

which is a contradiction,hence  $Av = z$ ,thus  $Av = Tv = z$ .

Since the pair  $(A, T)$  is weakly compatible then  $ATu = T Au$  implies  $Az = Tz = z$ .

Showing that  $z$  is a common fixed point of  $A, S$  and  $T$ .

**Uniqueness:**Let  $w$  be the another common fixed point of  $A, S$  and  $T$ .If  $z \neq w$  then From (iii)of the Theorem 12,we have

$$\begin{aligned} &G(z, w, w) \\ &= G(Az, Aw, Aw) \\ &\leq \phi \left( G(Sz, Tw, Tw), \quad G(Az, Tw, Tw), \quad G(Sz, Aw, Aw), \right) \\ &\quad \left( G(Sz, Az, Az), \quad G(Tw, Aw, Aw) \right) \\ &= \phi \left( G(z, w, w), G(z, w, w), G(z, w, w), G(z, z, z), G(w, w, w) \right) \\ &= \phi \left( (G(z, w, w), G(z, w, w), G(z, w, w), 0, 0) \right) \\ &\leq \phi \left( (G(z, w, w), G(z, w, w), G(z, w, w), 2G(z, w, w), G(z, w, w)) \right) \\ &< G(z, w, w) \end{aligned}$$

which is a contradiction,hence  $w = z$ . Therefore  $z$  is the the unique common fixed point of  $A, S$  and  $T$ .

As an example of the above theorem we have the following

**Example:** Let  $X = [0, 1]$  with  $G(x, y, z) = |x - y| + |y - z| + |z - x|$  for  $x, y, z \in X$  then  $G$  is a  $G$ -metric on  $X$ .

Define  $A : X \rightarrow X, S : X \rightarrow X, T : X \rightarrow X$ , by

$$Ax = \frac{1}{2}, Sx = \frac{x+1}{3}, Tx = \frac{x+2}{5} \text{ for all } x \in X$$

$$AX = \{\frac{1}{2}\}, SX = [\frac{1}{3}, \frac{2}{3}], TX = [\frac{2}{5}, \frac{3}{5}]$$

Clearly  $A(X) \subseteq S(X)$  and  $A(X) \subseteq T(X)$ .

Also  $S(x)$  and  $T(X)$  are closed subsets of  $X$ .

Note that  $\frac{1}{2}$  is a coincident point of the pairs  $(A, S)$  and  $(A, T)$  also we have  $AS(\frac{1}{2}) = SA(\frac{1}{2})$  and  $AT(\frac{1}{2}) = TA(\frac{1}{2})$ , so that the pairs  $(A, S)$  and  $(A, T)$  are weakly compatible.

And  $G(Ax, Ay, Ay) = 2|Ax - Ay| = 0$  for all  $x, y \in X$

$$G(Ax, Ay, Ay) = 0 \leq \phi \left( \begin{matrix} G(Sx, Ty, Ty), & G(Ax, Ty, Ty), \\ G(Sx, Ay, Ay), & G(Sx, Ax, Ax), \\ G(Ty, Ay, Ay) \end{matrix} \right)$$

Therefore all the conditions of the Theorem 12 hold. Moreover  $\frac{1}{2}$  is a unique common fixed of  $A, S$  and  $T$ . □



**Corollary 13.** Let  $A, S$ , and  $T$  be selfmaps of a complete  $G$ -metric space  $(X, G)$  satisfying the following conditions

- (i)  $A(X) \subseteq S(X)$  and  $A(X) \subseteq T(X)$
- (ii) one of  $S(X)$  and  $T(X)$  is closed subset of  $X$ .
- (iii)  $G(Ax, Ay, Ay) \leq \phi \begin{pmatrix} G(Sx, Ty, Ty), & G(Ax, Ty, Ty), \\ G(Sx, Ay, Ay), & G(Sx, Ax, Ax), \\ G(Ty, Ay, Ay) \end{pmatrix}$   
for every  $x, y \in X$  and  $\phi \in \Phi$
- (iv) The pairs  $(A, T)$  and  $(A, S)$  are commuting

Then  $A, S$  and  $T$  have a unique common fixed point in  $X$

*Proof.* From the fact commutativity implies weakly compatibility, The proof of the corollary follows from the Theorem 12  $\square$

**Corollary 14.** Let  $A$  and  $T$  be selfmaps of a complete  $G$ -metric space  $(X, G)$  satisfying the following conditions

- (i)  $A(X) \subseteq T(X)$
- (ii)  $T(X)$  is a closed subset of  $X$ .
- (iii)  $G(Ax, Ay, Ay) \leq \phi \begin{pmatrix} G(Tx, Ty, Ty), & G(Ax, Ty, Ty), \\ G(Tx, Ay, Ay), & G(Tx, Ax, Ax), \\ G(Ty, Ay, Ay) \end{pmatrix}$   
for every  $x, y \in X$  and  $\phi \in \Phi$
- (iv) The pair  $(A, T)$  is weakly compatible

Then  $A$  and  $T$  have a unique common fixed point in  $X$

*Proof.* By taking  $T = S$  in the Theorem 12  $\square$

### References

- [1] B. C. Dhage, Generalized metric space and mapping with fixed point, *Bull. Cal. Math. Soc.*, **84**, (1992), 329-336.
- [2] S. Gahler, 2- metrische Raume and ihre topologische struktur, *Math. Nachr.*, **26**, (1963), 115-148.
- [3] S. Gahler, Zur geometric 2-metriche raume, *Revue Roumaine de Mathmatiques pures et Appliquees*, **11**, (1966), 665-667.

- [4] G. Jungck, Common fixed points for non-continuous nonselfmaps on non metricspaces, *Far East J. Math. Sci*, **4** , No. 2(1996), 199-215
- [5] G. Junck, Compatible mappings and Common fixed points, *Int j of Math and Math. Sci*, **9**, No. 4(1986), 771-779.
- [6] G. Junck and Rhoads. B. E, Fixed point for set valued functions with out continuity, *Indian j pure Appl. Math. Sci*, **29**, (1998), 227-238.
- [7] S. Sessa, On a weak commutativity condition of mappings in fixed point considerations , *Publ. Inst math. Debre*, **62** (1982), 149-153.
- [8] S. Sedghi, N. shobe and H. Zhou, A Common fixed point theorem in  $D^*$ -metric spaces, *Fixed point Theorey Appl*, (2007), 1-3.
- [9] Singh, S. p. , Meade, B. A, On Common fixed point theorems, *Bull of Australian Math. Soc*, **16** (1977), 49-53
- [10] Zead Mustafa and B. Sims, some remarks concerning D-metric spaces, *Proc. of the Int conference on Fixed point theory and Appl* (2003), 189-198.
- [11] Zead Mustafa and B. Sims A new approach to genaralized metric spaces, *J. of Non linear and convex analysis*, **7** (2006), 289-297.